
Mathematics 3790H – Analysis I: Real analysis
Trent University, Winter 2015

Assignment #10
More uniform convergence
Due on Friday, 27 March, 2015.

Recall from class and the textbook that a series of functions
∞∑
k=0

fk(x) converges uni-

formly to a function S(x) on an interval I if for any ε > 0 there is an N such that for all

n ≥ N and all x ∈ I, |Sn(x)− S(x)| < ε, where Sn(x) =
n∑

k=0

fk(x) for each n ≥ 0.

1. Suppose that for all k ≥ 0 and x ∈ I, |fk(x)| ≤ ak, and that
∞∑

n=0
ak converges. Show

that
∞∑
k=0

fk(x) converges uniformly on I. [10]


